Answers Monday 4th May
Year 5 Maths Imperial Units
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Year 6 Maths Metric Measures
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Reading A Soldiers Diary
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5a. 50.8lbs, 42.06Ibs, 51.91bs, 34.1lbs
6a. False, 3,408ml

7a.2.54cm

8a. 44ibs

Expected
5b. 52kg, 66k, 61.5kg, 30kg
6b.True

7b.11,360ml

8b. 22Ibs
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4a. Sugar because it weighs 9.91bs,
whereas the others weigh 16.51bs.

5a. Various answers, for example: 1,258ml,
1,285ml, 1,528ml, 1,582ml

6a. No, Michelle is not correct. 6 inches =
15.24cm. 15.24 x 12 = 182.88cm. Michelle
will need 14 lengths of bamboo.

Expected

4b. Syrup because it weighs 2.5kg,
whereas the others weigh 2kg

5b. Various answers for example: 2,019ml,
2,091ml, 2,109ml

6b. No, Lacey is not correct. Cameron
needs 30 inches which is 76.2cm, so 70cm
of fabric is not enough.
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5a. Weight - grams; distance - kilometres;
volume - lifres, millitres.

6. 250km is the odd one out; the others
are all units of weight.

7a.teacher

8a. Itis 1-}- mefre high; It weighs 6kg.

Expected

5b. Weight - kilograms; length —
centimetres, metres; volume - milliitres.
6b. 150cm is the odd one out; the others
are all units of volume.

7b. lemonade bottle

8b. It has a volume of 1.5L; It weighs Tkg.
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4a. Various answers, for example:

0.3m, 400mm, 38cm. Each is around the
same length when converted to the same
unit, and children in one class would have
similar length arms.

5a. Various answers, for example:

I agree with Jojo because a bath requires
alarge amount of water to fil it, and litres
is a greater measure than milllitres. In
context 150ml is about half of a small
glass of water.

6a. Various answers, for example:

a grape - 5g, a pineapple - 1kg, a
watermelon - 8kg, an orange - 100g.

Expected

4b. Various answers, for example:

500ml, 0.8 litres, 1 litre. Each is around the
same volume when converted to the
same unit of volume, and children will
have similar sized water botles.

5b. Various answers, for example:

I agree with Jaiden because the weight of
atable would be measured in kilograms
rather than grams. In context, 25g weighs
less than a slice of bread.

6b. Various answers, for example:

a cow-2.5m, a mouse - 10cm, @ pig -
1.8m, a sheep - 1.5m.
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1. Devastation

2. Everybody was sad and scared and you could sense it

3. Ashes link to the death of the war and the bombings and fires
4. Unease

5. Two things places or seen together with contrasting effect

1I: Worried about his friends, in denial about their chances of surviving, lonely and sad
E: He referred to themselves as ‘troopers (paratroopers). They jumped from the sky
R: Just outside Caen

I Unsure at what will happen next. Worried because they are so close to winning but there’s still a

ot that needs doing.




